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                              SYNTHESIS

         *Based on  Present Participle,  Past Participle &  Perfect Participle -
NOTE- Combine the following sentences into one simple sentence-      
1. I saw a boy. He was flying kites.
> I saw a boy, flying kites.                                              (PRESENT PARTICIPLE – RULE-1)
 मैंने एक लड़के को पतंगे उड़ाते हुए देखा  
2. A boy flew kites. He went to his tuition.
> Having flown kites, a boy went to his tuition.             (PERFECT PARTICIPLE) 
    पतंगे उड़ाने के बाद एक लड़का अपनी ट्यूशन को गया । 
3. He boy was flying kites. He fell from his roof.
> While flying kites, a boy fell from his roof.                (PRESENT PARTICIPLE – RULE-3)
  पतंगे उड़ाते-ते एक लड़का अपनी छत से गिर पड़ा । 
4. A boy bought some kites. They were torn.
> A boy bought some torn kites.                                     (PAST PARTICIPLE)
  एक लड़के ने कुछ फटी हुई पतगें खरीदीं ।  
5. A boy was flying kites. I inform his father.
> A boy being flying kites, I inform his father.              (PRESENT PARTICIPLE – RULE-4)
  एक लड़के के पतंगे उड़ाने के कारण , मैंने उसके पिता को सूचित किया । 
6. The shops were closed. No one went to bazaar.
> The shops being closed, no one went to bazaar.         (PRESENT PARTICIPLE – RULE-4)
  दुकाने बन्द होने के कारण कोई बाज़ार को नहीं गया । 
7. The shop was closed. We had to wait outside. 
> We had to wait outside the closed shop.                     (PAST PARTICIPLE)
  हमें बन्द हुई दुकान के बाहर इंतज़ार करना पड़ा । 
8. The bananas were rotten. The guests did not touch them. 
> The guests did not touch the rotten bananas.              (PAST PARTICIPLE)
  मेहमानों ने सड़े हुए आमों को नहीं छुआ । 
9. He failed last year. He left his studies.
> Having failed last year, he left his studies.                 (PERFECT PARTICIPLE)
  पिछले वर्ष फ़ेल होने के बाद , उसने अपनी पढ़ाई छोड़ दी । 
10. It was holiday. We did not go to school.
>   It being holiday, we did not go to school.                  (PRESENT PARTICIPLE – RULE-4)
   छुट्टी होने के कारण , हम स्कूल को नहीं गए । 
11. I saw an owl. It was wounded.
>    I saw a wounded owl.                                                (PAST PARTICIPLE)
   मैंने एक घायल हुआ उल्लु देखा । 
12. The patient took some milk. It was boiled. 

>    The patient took some boiled milk.                           (PAST PARTICIPLE)
   मरीज़ ने कुछ उबला हुआ दूध लिया । 
13. He parked his car. He went to the fair.
>    Having parked his car, he went to the fair.               (PERFECT PARTICIPLE)
   अपनी कार खड़ी करने के बाद , वह मेले को गया । 
14. He was walking in lockdown. He was beaten by the police. 
>    Being walking in lockdown, he was beaten by the police. (PRESENT PARTICIPLE – RULE-4)
   ताला बन्दी में टहलने के कारण उसे पुलिस के द्वारा पीटा गया । 
15. My cycle was repaired. I brought it home.
>   I brought my repaired cycle to home.                                  (PAST PARTICIPLE)
     मैं अपनी मरम्मत हुई साइकिल घर ले आया ।                         
                      ………………………….
